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Warm Up

Tell where the mean and median are in each
density curve below.
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Warm Up

The scores on the final for Ms. Polchow's class average at 79
and have a standard deviation of 8.

What percentage of the students received a score of 63 or

s g.“a‘

lower?

Scores ——> 5SS &3 4( 79 87 95 103
z-Scsre—m -3 -2 - o | & 3

Feb 1-7:18 PM

TABLE of z scores

Percentiles of the Normal Distribution

Standard Score (z-score) -

A number that measures exactly how many
standard deviations your x-value is from the
mean. We use this to find the % of other
standard deviations from the mean besides 1, 2,

or3. observation— mean X=X XM
zscore = 22 ST 2="—= _
standar eviation SX D-'

Percentile -

The Cw percentile is a number where C% of the
observations are at or below this point (area to
the left).

Nov 10-10:08 PM
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Tables l T3

Probability

Table entry for z is the

to the left of z.

Standard normal probabilities (continued)
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Sep 30-11:19 AM

The Standard Normal Table

The standard normal table is a table of areas under the standard
normal curve. The table entry for each value of z is the area under the
curve to the left of z.

Probability

Table entry for z is
the area under the

standard normal curve
tothe left of z H

Standard normal probabilities

0019 0018 0018 0017 0016 0016 0015 0015 =

G 00 o4 o2 oms  0os oo oo Z2=1.%89
0035 0034 0033 0032 0031 0030 0029 0028

0047 0045 0043 1 0040 0039 0038

JoX 174

0130 013 032 0129 0125 012 0119 0116
0179 0174 0170 0166 0162 0158 0154 0150
028 0222 0217 0212 0207 0202 0197 019
0287 0281 0274 0268 0262 0256 0250 0244
0359 0351 d 0220
0446 0436 0427 0418 0401 0392 0384
0548 0537 052 0516 0505 0495 0485 0475
0668 0655 0643 0630 0618 0606 0594 0582
0808 0793 0778 0764 0749 0735 0721 0708
68 0951 0934 0918 0901 (0885 0869 0853
151 0131 12 1093 1075 1056 1038 1020
1357335 314 292 71 1251 4230 L1210
IS87 0562 1539 I5IS 1492 1469 1446 1423
1841 1814 788 U762 173 711 1685 1660
2119 2090 2061 2033 2005 1977 1949 1922
2420 238 2358 2327 229 2266 223% 2206
2743 2709 2676 2643 2611 2578 2546 2514
3085 3050 3015 2981 2946 2012 2877 2843
3446 3400 332 3336 3300 3264 328 3192
3821 3783 3745 3707 3669 3632 3594 3557

What is the standardized height (z-score) for
a woman 68 inches tall?
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What is the z-score for a woman 5 ft. tall?

Sep 30-11:39 AM

Sep 30-11:16 AM

Let's use the standard normal distribution on our
distribution of young women's heights. Mean is
64.5 inches, standard deviation is 2.5 inches.

What proportion of young women are taller
than 70 inches?

1. Draw the distribution, label and shade the
area of interest under the curve.

2. Standardize x and find the z-score.
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3. Find the area under the curve using Table A

4. Write your conclusion in context of the
problem.

Sep 30-3:02 PM
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ex. Find the proportion of observations from the
standard normal distribution that are greater
than -2.15

Ex. Jack and Jill are going to college. Jack takes the SAT and
scores a 600 on the math portion. Jill takes the ACT and scores
a 21 on the math portion.
(SAT is approx. normal with a mean of 500 and s, =100)
(ACT is approx. normal with a mean of 18 and s, = 6)
2= X- x
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Sep 30-2:59 PM

Feb 1-6:40 PM

The ages of a professional baseball team are normally distributed
with a mean of 25 and a standard deviation of 2. Find what
percent of the baseball players are between 22 and 26 years old?

Assignment: p. 312
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